MVP 1.3 Tracking the Tortoise-2-A7.notebook September 01, 2016

NO QUIZ TODAY!

T will check 1.2 Homework soon!

Go ahead and begin 1.3 on pg.17 and I will
check your homework as soon as T get
attendance taken!
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h(x)=x"-x I
Calculate the indicated function values.
15. f(7) 16. f(=9) 17. f(s) 18. f(s—1)
|
19. g(7) 20. g(-9) 21. g(s) 22. g(s—1) L
‘ 24. h(7) 25. h(-9) 26. h(s) 27. h(s—1t) ‘

Notice that the notation f{g(x)) is indicating that you replace x in f{x) with g(x).
Simplify the following.

28. flg(x)) 29. f(h(x)) 30. g(fix))
e

(238~ 10034

0% t+4
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1.3 Tracking the Tortoise
A Solidify Understanding Task

You may remember a task from last year about the
famous race between the tortoise and the hare. In the
children’s story of the tortoise and the hare, the hare
mocks the tortoise for being slow. The tortoise replies,
“Slow and steady wins the race.” The hare says, “We'll
just see about that,” and challenges the tortoise to a race.

In the task, we modeled the distance from the starting line that both the tortoise and the hare
travelled during the race. Today we will consider only the journey of the tortoise in the race.

Because the hare is so confident that he can beat the tortoise, he gives the tortoise a 1 meter
head start. The distance from the starting line of the tortoise including the head start is given
by the function: .

rto\se,

d(t) = 2' (d in meters and t in seconds)

———

The tortoise family decides to watch the race from the sidelines so that they can see their
darling tortoise sister, Shellie, prove the value of persistence.

1. How far away from the starting line must the family be, to be located in the right place
for Shellie to run by 10 seconds after the beginning of the race? After 20 seconds?

A= " d(an)= 2*°
ol(0)= (024 m d(20)= | o4 b

2. Describe the graph of d(t), Shellie’s distance at time t. What ape the important features
of d(t)? 5mmng)

Voreatn: [O’ 300] & we Limit Shelles
Qange - [0 , 2.0H % D™ VaCe 1o Dmins,

WOt 0O Minut4s,
Incrageing, contnuous , exponentia) passes

‘Fhrou%\,\ (0‘\\’

Mar 3-2:09 PM



MVP 1.3 Tracking the Tortoise-2-A7.notebook September 01, 2016

3. Ifthe tortoise family plans to watch the race at 64 meters away from Shellie’s starting
point, how long will they have to wait to see Shellie run past?

WEE
E = (o RONdS

4. How long must they wait to see Shellie run by if they stand 1024 meters away from her

starting point? \ D/)J,\ - 2 t
L= (Dsewo W\S

5. Draw a graph that shows how long the tortoise family will wait to see Shellie run by at
d(_agiven location from her starting point.

may

10

Mar 3-2:10 PM
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6. How long must the family wait to see Shellie run by if they stand 220 meters away from

her starting point?
bex. 1\ 2%

7. Whatis the relationship between d(t) and the graph that you have just drawn? How did
you use d(t) to draw the graph in #57?

4h@3 are the same .

8. Consider the function f(x) = 2*.
A) What are the domain and range of f(x)? Is f(x) invertible?— >

dorvaun - (-00,00) yes, £6 .
ranag . (0,90) \& wwer bl
B) Graph f(x) and f ~%(x) on the grid below. -\
t Tl £(%)
| II x |F(%)
| 1O
2 ||
‘g > 41|12

e 313
1o \§
: 5|”- 5,
5 SEHYHHS Al
Y=x | i . & 2

\

N— VRN —OX
.A/—Nl—%g R TN
[“

L

C) What are the domain and range of f_1(x)?

d.OW\Q_Uf\ . Con (2 OL\ X \qu,

\"GJ/\%Q . (:0.305_\

Mar 3-2:15 PM
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9. If f(3) = 8, whatis f~*(8)? How do you know?

(29) —= (%)
£(4)=3
10. Iff( ) = 1.414, whatis f~1(1.414) ? How do you know?
(3 \d) — (14,3
£ (144 = 5
11.1If f(a..) = b whatis f~1(b)? Will your answer change if f{x) is a different function?
Explain. (a ;\O) h} (\O/QB (:&Q,() _F’\(b)

-F - ‘(\D)C A W\l a \uow{)
ol &

Mar 3-2:42 PM
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5 EH Q @®Q® 2|7 k@@@ 150%-5@?@
Solve for the value of x. SR g
1 5x+1_52x 3

X4 |=2x-3

2. 73}6‘ 2 _ =7 2x+8

3. 4326 — 22x78

4, 35%—4 — g2x—3 5 gxtl — p2x+3 6. 5 =_1 7 gx+1 L

7)()(-'_ lj 2’(_1.3 125 81
Set C;Z ~

N~
Topic: Writing the logarithn?gfgttm}f ang{BLrJ'tﬁéltial equation.

Definition of Logarithm: For all positive numbers a, where a # 1, and all positive numbers x,
= log,x means the same asx = a’.
(Note the base of the exponent and the base of the logarithm are both a.)

8. Why is it important that the definition of logarithms states that the base of the logarithm doe

not equal 17

9. Why is it important that the definition states that the base of the logarithm is positive?

10. Whv i is it necessarv that the defnntlon states that x in the expression loa.x 15 positive? -
850x11.00in r

leg, 8= =1 L% (097,8-:3
Ee
(,03327 - ’5
bfe. 3°=27
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Homework/Classwork

Finish 1.3

Oct 21-8:47 AM
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